

				March - 2	021				
Billing Categori	es			2021				2020	
(Billing categories below do not match traditional crime groupings)		March	Year to Date	Time Standard	Year To Date Weighted Hours	March	Year to Date	Time Standard	Year To Date Weighted Hours
Violent Criminal Code	Sexual Assault With a Weapon	0	1	16.0	16.0	0	0		0.0
	Sexual Assault	3	9	16.0	144.0	2	9	16.0	144.0
	Sexual Interference	0	0		0.0	1	4	16.0	64.0
	Non-Consensual Distribution of Intimate Images	0	0		0.0	0	1	16.0	16.0
	Assault With Weapon or Causing Bodily Harm- Level 2	5	9	16.0	144.0	3	8	16.0	128.0
	Assault-Level 1	3	16	16.0	256.0	7	23	16.0	368.0
	Assault Peace Officer	0	0		0.0	1	1	16.0	16.0
	Other Assaults / Admin Noxious thing	1	1	16.0	16.0	0	0		0.0
	Robbery, With Threat of Violence	0	0		0.0	0	2	16.0	32.0
	Robbery - Pursesnatch With Violence	0	1	16.0	16.0	0	0		0.0
	Robbery - Other	0	0		0.0	0	2	16.0	32.0
	Criminal Harassment	2	7	16.0	112.0	0	0		0.0
	Indecent/Harassing Communications	2	2	16.0	32.0	0	1	16.0	16.0
	Utter Threats -Master code	1	1	16.0	16.0	0	0		0.0
	Utter Threats to Person	6	17	16.0	272.0	2	6	16.0	96.0
	Total	23	64	16.0	1,024.0	16	57	16.0	912.0
Property Crime	Arson - Auto	0	0		0.0	0	1	6.5	6.5
Violations	Break & Enter	1	5	6.5	32.5	8	25	6.5	162.5
	Theft Over - Building	0	0		0.0	1	1	6.5	6.5
	Theft Over - Trailers	0	1	6.5	6.5	0	1	6.5	6.5
	Theft Over - Other Theft	0	1	6.5	6.5	0	1	6.5	6.5
	Theft of - Mail	0	1	6.5	6.5	0	0		0.0
	Theft FROM Motor Vehicle Over \$5,000	0	1	6.5	6.5	0	0		0.0
	Theft of Motor Vehicle	4	5	6.5	32.5	4	13	6.5	84.5
	Theft of - Automobile	0	1	6.5	6.5	1	2	6.5	13.0
	Theft of - Trucks	0	4	6.5	26.0	2	13	6.5	84.5
	Theft of - Motorcycles	0	0		0.0	1	1	6.5	6.5
	Theft of - Snow Vehicles	0	1	6.5	6.5	0	0		0.0
	Theft of - All Terrain Vehicles	0	3	6.5	19.5	0	2	6.5	13.0
	Theft of - Construction Vehicles	0	0		0.0	1	1	6.5	6.5
	Theft of - Other Motor Vehicles	0	0		0.0	0	1	6.5	6.5



				March - 2	021					
Billing Categorie				2021			2020			
	below do not match	March	Year to Date	Time Standard	Year To Date Weighted Hours	March	Year to Date	Time Standard	Year To Date Weighted Hours	
Property Crime	Theft Under -master code	0	1	6.5	6.5	0	1	6.5	6.5	
Violations	Theft under - Bicycles	0	1	6.5	6.5	0	0		0.0	
	Theft under - Persons	0	0		0.0	0	1	6.5	6.5	
	Theft under - Trailers	0	1	6.5	6.5	0	2	6.5	13.0	
	Theft under - Other Theft	7	11	6.5	71.5	10	22	6.5	143.0	
	Theft Under - Gasoline Drive-off	2	11	6.5	71.5	4	12	6.5	78.0	
	Theft FROM Motor Vehicle Under \$5,000	2	10	6.5	65.0	7	14	6.5	91.0	
	Theft Under \$5,000 [SHOPLIFTING]	4	13	6.5	84.5	1	12	6.5	78.0	
	Possession of Stolen Goods over \$5,000	0	4	6.5	26.0	1	4	6.5	26.0	
	Possession of Stolen Goods under \$5,000	0	1	6.5	6.5	0	0		0.0	
	Fraud -Master code	0	4	6.5	26.0	0	1	6.5	6.5	
	Fraud - Steal/Forge/Poss./Use Credit Card	1	4	6.5	26.0	0	6	6.5	39.0	
	Fraud - False Pretence < = \$5,000	1	2	6.5	13.0	0	1	6.5	6.5	
	Fraud - Forgery & Uttering	0	0		0.0	0	1	6.5	6.5	
	Fraud -Money/property/ security > \$5,000	0	0		0.0	1	2	6.5	13.0	
	Fraud -Money/property/ security <= \$5,000	2	6	6.5	39.0	4	10	6.5	65.0	
	Fraud - Transportation	0	0		0.0	0	1	6.5	6.5	
	Fraud - Other	2	11	6.5	71.5	0	6	6.5	39.0	
	Fraud - False Pretence > \$5,000	0	0		0.0	0	1	6.5	6.5	
	Identity Theft	0	0		0.0	1	1	6.5	6.5	
	Identity Fraud	1	1	6.5	6.5	0	0		0.0	
	Mischief - master code	8	24	6.5	156.0	12	30	6.5	195.0	
	Mischief [Graffiti - Non Gang Related]	0	1	6.5	6.5	1	3	6.5	19.5	
	Interfere with lawful use, enjoyment of property	0	2	6.5	13.0	1	1	6.5	6.5	
	Property Damage	2	6	6.5	39.0	3	7	6.5	45.5	
	Total	37	137	6.5	890.5	64	201	6.5	1,306.5	
Other Criminal Code Violations	Offensive Weapons- Possession of Weapons	0	1	7.8	7.8	3	3	7.8	23.4	
(Excluding traffic)	Offensive Weapons-Other Weapons Offences	0	1	7.8	7.8	0	1	7.8	7.8	
	Bail Violations -Master code	1	1	7.8	7.8	0	0		0.0	



				March - 2	021					
Billing Categorie				2021			2020			
(Billing categories l traditional crime gro		March	Year to Date	Time Standard	Year To Date Weighted Hours	March	Year to Date	Time Standard	Year To Date Weighted Hours	
Other Criminal Code Violations	Bail Violations - Fail To Comply	1	12	7.8	93.6	3	6	7.8	46.8	
(Excluding traffic)	Bail Violations - Others	0	1	7.8	7.8	1	2	7.8	15.6	
	Counterfeit Money -Master code	0	0		0.0	1	3	7.8	23.4	
	Possession Of Counterfeit Money	0	1	7.8	7.8	0	0		0.0	
	Uttering Counterfeit Money	1	1	7.8	7.8	0	2	7.8	15.6	
	Counterfeit Money - Others	2	2	7.8	15.6	0	0		0.0	
	Disturb the Peace	2	8	7.8	62.4	0	4	7.8	31.2	
	Indecent acts -Other	0	0		0.0	1	1	7.8	7.8	
	Child Pornography - Possess child pornography	0	0		0.0	1	1	7.8	7.8	
	Child Pornography - Making or distributing	0	0		0.0	1	1	7.8	7.8	
	Public Morals	0	0		0.0	0	1	7.8	7.8	
	Obstruct Public Peace Officer	1	1	7.8	7.8	0	0		0.0	
	Trespass at Night	0	1	7.8	7.8	0	0		0.0	
	Breach of Probation	1	6	7.8	46.8	1	7	7.8	54.6	
	Disobey court order/Misconduct executing process	1	8	7.8	62.4	0	0		0.0	
	Common nuisance	0	1	7.8	7.8	0	0		0.0	
	Interception/disclosure of communication	0	1	7.8	7.8	0	0		0.0	
	Offences Related to Currency	0	1	7.8	7.8	0	0		0.0	
	Total	10	47	7.8	366.6	12	32	7.8	249.6	
Drug Possession	Possession Cocaine	2	2	6.5	13.0	1	1	6.5	6.5	
	Possession Other Controlled Drugs and Substance Act	0	2	6.5	13.0	0	1	6.5	6.5	
	Possession - Methamphetamine (Crystal Meth)	0	1	6.5	6.5	0	0		0.0	
	Possession û Opioid (other than heroin)	0	0		0.0	0	1	6.5	6.5	
	Drug related occurrence	2	8	6.5	52.0	3	8	6.5	52.0	
	Total	4	13	6.5	84.5	4	11	6.5	71.5	
Drugs	Trafficking Cocaine	0	0		0.0	0	1	45.9	45.9	
	Trafficking Other Controlled Drugs and Substance Act	0	1	45.9	45.9	0	1	45.9	45.9	



				March - 2	021						
Billing Categori				2021			2020				
	below do not match	March	Year to Date	Time Standard	Year To Date Weighted Hours	March	Year to Date	Time Standard	Year To Date Weighted Hours		
Drugs	Possession of cannabis for purpose of selling	0	0		0.0	0	1	45.9	45.9		
	Total	0	1	45.9	45.9	0	3	45.9	137.7		
Statutes & Acts	Landlord/Tenant	18	29	3.4	98.6	3	21	3.4	71.4		
	Mental Health Act	6	27	3.4	91.8	10	29	3.4	98.6		
	Mental Health Act - No contact with Police	1	1	3.4	3.4	1	1	3.4	3.4		
	Mental Health Act - Attempt Suicide	4	7	3.4	23.8	1	5	3.4	17.0		
	Mental Health Act û Threat of Suicide	8	19	3.4	64.6	3	9	3.4	30.6		
	Mental Health Act - Voluntary Transport	1	10	3.4	34.0	3	8	3.4	27.2		
	Mental Health Act - Placed on Form	1	4	3.4	13.6	3	3	3.4	10.2		
	Trespass To Property Act	5	30	3.4	102.0	8	17	3.4	57.8		
	Total	44	127	3.4	431.8	32	93	3.4	316.2		
Operational	Animal -Master code	0	1	3.6	3.6	0	0		0.0		
	Animal - Left in Vehicle	1	1	3.6	3.6	0	0		0.0		
	Animal Stray	1	10	3.6	36.0	3	3	3.6	10.8		
	Animal Injured	2	4	3.6	14.4	0	2	3.6	7.2		
	Animal - Other	1	2	3.6	7.2	0	1	3.6	3.6		
	Animal - Dog Owners Liability Act	0	0		0.0	0	1	3.6	3.6		
	Domestic Disturbance	21	64	3.6	230.4	27	94	3.6	338.4		
	Suspicious Person	22	61	3.6	219.6	33	84	3.6	302.4		
	Phone -Master code	0	1	3.6	3.6	1	3	3.6	10.8		
	Phone -Nuisance - No Charges Laid	1	4	3.6	14.4	1	7	3.6	25.2		
	Phone -Obscene - No Charges Laid	0	0		0.0	0	1	3.6	3.6		
	Phone -Threatening - No Charges Laid	0	1	3.6	3.6	0	0		0.0		
	Phone -Other - No Charges Laid	0	1	3.6	3.6	0	2	3.6	7.2		
	Text- related Incident (Texting)	0	1	3.6	3.6	0	0		0.0		
	Fire - Building	2	4	3.6	14.4	0	4	3.6	14.4		
	Fire - Vehicle	4	6	3.6	21.6	1	3	3.6	10.8		
	Fire - Other	3	3	3.6	10.8	0	2	3.6	7.2		
	Insecure Condition -Master code	0	1	3.6	3.6	1	5	3.6	18.0		
	Insecure Condition - Building	0	1	3.6	3.6	0	1	3.6	3.6		



				March - 2	021				
Billing Catego				2021		2020			
(Billing categories below do not match traditional crime groupings)		March	Year to Date	Time Standard	Year To Date Weighted Hours	March	Year to Date	Time Standard	Year To Date Weighted Hours
Operational	Missing Person -Master code	0	1	3.6	3.6	0	0		0.0
	Missing Person under 12	0	1	3.6	3.6	1	3	3.6	10.8
	Missing Person 12 & older	2	3	3.6	10.8	2	6	3.6	21.0
	Missing Person Located Under 12	1	1	3.6	3.6	0	0		0.0
	Missing Person Located 12 & older	0	3	3.6	10.8	1	4	3.6	14.
	Noise Complaint -Master code	11	26	3.6	93.6	7	22	3.6	79.2
	Noise Complaint - Residence	0	3	3.6	10.8	2	3	3.6	10.8
	Noise Complaint - Animal	1	4	3.6	14.4	3	5	3.6	18.
	Noise Complaint - Others	0	0		0.0	1	4	3.6	14.4
	Accident - non-MVC - Master code	1	1	3.6	3.6	1	2	3.6	7.2
	Accident - non-MVC - Industrial	0	1	3.6	3.6	0	0		0.
	Accident - non-MVC - Commercial	0	1	3.6	3.6	0	0		0.
	Found Property -Master code	3	7	3.6	25.2	4	19	3.6	68.
	Found - License Plate	0	0		0.0	0	1	3.6	3.
	Found-Personal Accessories	0	1	3.6	3.6	1	2	3.6	7.
	Found-Household Property	0	2	3.6	7.2	0	0		0.
	Found-Radio,TV,Sound- Reprod. Equip.	0	1	3.6	3.6	0	1	3.6	3.
	Found-Machinery & Tools	0	0		0.0	0	1	3.6	3.
	Found-Others	0	1	3.6	3.6	1	2	3.6	7.
	Lost Property -Master code	2	4	3.6	14.4	3	5	3.6	18.
	Lost License Plate	0	1	3.6	3.6	0	2	3.6	7.
	Lost-Personal Accessories	1	1	3.6	3.6	0	1	3.6	3.
	Lost-Household Property	1	1	3.6	3.6	0	1	3.6	3.
	Lost-Radio,TV,Sound- Reprod. Equip.	0	1	3.6	3.6	0	0		0.
	Lost - Gun	0	1	3.6	3.6	0	0		0.
	Lost-Others	0	2	3.6	7.2	1	3	3.6	10.
	Sudden Death - Drowning	0	0		0.0	1	2	3.6	7.
	Sudden Death - Suicide	0	2	3.6	7.2	2	2	3.6	7.
	Sudden Death - Natural Causes	2	6	3.6	21.6	2	9	3.6	32.
	Sudden Death - Others	0	1	3.6	3.6	2	3	3.6	10.
	Suspicious Vehicle	19	45	3.6	162.0	17	64	3.6	230.4



		1		March - 2	UZ I						
Billing Catego	pries			2021			2020				
(Billing categories below do not match traditional crime groupings)		March	Year to Date	Time Standard	Year To Date Weighted Hours	March	Year to Date	Time Standard	Year To Date Weighted Hours		
Operational	Trouble with Youth	7	16	3.6	57.6	9	28	3.6	100.8		
	Medical Assistance -Other	0	0		0.0	0	1	3.6	3.6		
	Vehicle Recovered - Master code	0	1	3.6	3.6	0	0		0.0		
	Vehicle Recovered - Automobile	2	4	3.6	14.4	2	5	3.6	18.0		
	Vehicle Recovered - Trucks	0	3	3.6	10.8	4	13	3.6	46.8		
	Vehicle Recovered - Farm Vehicles	0	1	3.6	3.6	0	0		0.0		
	Vehicle Recovered - Other	0	0		0.0	0	1	3.6	3.6		
	Unwanted Persons	7	18	3.6	64.8	10	26	3.6	93.6		
	Neighbour Dispute	19	49	3.6	176.4	6	20	3.6	72.0		
	By-Law -Master code	0	2	3.6	7.2	0	3	3.6	10.8		
	Firearms (Discharge) By- Law	0	0		0.0	0	1	3.6	3.6		
	Other Municipal By-Laws	3	13	3.6	46.8	1	13	3.6	46.8		
	Traffic By-Law	1	5	3.6	18.0	1	4	3.6	14.4		
	Overdose/Suspected Overdose - Opioid Related	0	1	3.6	3.6	0	1	3.6	3.6		
	Assist Fire Department	1	2	3.6	7.2	2	5	3.6	18.0		
	Assist Public	53	174	3.6	626.4	98	249	3.6	896.4		
	Distressed/Overdue Motorist	1	2	3.6	7.2	0	0		0.0		
	Family Dispute	26	64	3.6	230.4	19	56	3.6	201.6		
	Protest - Demonstration	0	0		0.0	3	4	3.6	14.4		
	Total	222	643	3.6	2,314.8	274	810	3.6	2,916.0		
Operational2	False Alarm-Malfunction	0	0		0.0	0	1	1.3	1.3		
	False Holdup Alarm- Accidental Trip	4	8	1.3	10.4	5	8	1.3	10.4		
	False Alarm -Others	13	33	1.3	42.9	23	73	1.3	94.9		
	False Alarm -Cancelled	0	1	1.3	1.3	0	0		0.0		
	Keep the Peace	11	34	1.3	44.2	13	44	1.3	57.2		
	911 call / 911 hang up	27	61	1.3	79.3	11	44	1.3	57.2		
	911 hang up - Pocket Dial	1	2	1.3	2.6	0	0		0.0		
	911 call - Dropped Cell	10	21	1.3	27.3	7	20	1.3	26.0		
	Total	66	160	1.3	208.0	59	190	1.3	247.0		
Traffic	MVC - Personal Injury (MOTOR VEHICLE COLLISION)	5	7	3.4	23.8	8	21	3.4	71.4		
	MVC - Prop. Dam. Non Reportable	5	27	3.4	91.8	8	47	3.4	159.8		



			l	warch - 2	021					
Billing Cate	gories	2021					2020			
(Billing categories below do not match traditional crime groupings)		March	Year to Date	Time Standard	Year To Date Weighted Hours	Marc	h Year to Date	Time Standard	Year To Date Weighted Hours	
Traffic MVC - Prop. Dam. Reportable (MOTOR VEHICLE COLLISION) MVC - Prop. Dam. Faile to Remain (MOTOR VEHICLE COLLISION) MVC - Fatal (MOTOR VEHICLE COLLISION) MVC - Others (MOTOR VEHICLE COLLISION) MVC - Others (MOTOR VEHICLE COLLISION) Road Rage	Reportable (MOTOR	16	56	3.4	190.4	3	4 90	3.4	306.0	
		4	9	3.4	30.6		4 17	3.4	57.8	
		0	0		0.0		0 1	3.4	3.4	
		0	1	3.4	3.4		0 0		0.0	
	Road Rage	0	0		0.0		0 1	3.4	3.4	
	Total	30	100	3.4	340.0	5	4 177	3.4	601.8	
Total	436	1,292		5,706.1	51	5 1,574		6,758.3		



Billing Categories			2021			2020				
(Billing categories below do not match traditional crime groupings)	March	Year to Date	Time Standard	Year To Date Weighted Hours	March	Year to Date	Time Standard	Year To Date Weighted Hours		
Violent Criminal Code	23	64	16.0	1,024.0	16	57	16.0	912.0		
Property Crime Violations	37	137	6.5	890.5	64	201	6.5	1,306.5		
Other Criminal Code Violations (Excluding traffic)	10	47	7.8	366.6	12	32	7.8	249.6		
Drug Possession	4	13	6.5	84.5	4	11	6.5	71.5		
Drugs	0	1	45.9	45.9	C	3	45.9	137.7		
Statutes & Acts	44	127	3.4	431.8	32	93	3.4	316.2		
Operational	222	643	3.6	2,314.8	274	810	3.6	2,916.0		
Operational2	66	160	1.3	208.0	59	190	1.3	247.0		
Traffic	30	100	3.4	340.0	54	177	3.4	601.8		
Total	436	1,292		5,706.1	515	1,574		6,758.3		